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YWhat kind of substandes can't

1.

nermeate membranes by passive

giffusion ? CT

(&) Lipid-soiuble

(B Non-ionized substances

(C) Hydrophobic substances o

(2} Hydrophilic substances

2. Potential outcomes of pharma-
cogenetic research inciude all the
following except : - |

(A New drug development

(8) Higher health care costs

{C) improved treatment outcomes_

(D) Pretreatment écreening for
genetic poiymorphisms

3.  An obstacie to successful gene
therapyis:

(A) An inabiiity to identify genetic
defect

(B) inefficient gene delivery

(C) Difficuity in identifying eligible
palients

(D) Lackofresearch efforts
4. What is implied by <<active
fransport>>?

(A} Transport of drugs through a
membrane by means of .
diffusion

(B} Transport without energy
consumption

(C) Engulf of drug by a cell
membrane with a new vesicle
formation

KR —12ANM8

(D) Transportagainst concentration
gradient

The reasons determining bicavaila-

bility are : )

(A) - Rheological parémeters of
bicod

(B) Amount of a substance
obtained orally and quantity of
intakes

{C) Extent of absorption and
hepatic first-pass effect

(D) Glomerular filiration rate

When most genes have more than
one effect on the phenctype of an

-organismitis termed as :

(A} Pleiotropy

(B) Epistasis

(C) Polymorphism

(D) None ofthe above

Which of the following are the
important toois of pharmacoinfor-
matics ?

(A) Bioinformatics

(B) Metabolomics

(C) Genome informatics

(D) Allofthe above

Swiss protisa:

(A) Nucleotide Sequence Database
(B) Protein Sequence Database

(C) Human Genome Database
(D) Allofthe above

Conid.



9.

10.

11.

12.

Prodrugis a:

(A) Medication administered in
active form

(B) Medication administered in
inactive form

(C) Placebo

(D) None of the above

A partition coefficient is the :

(A) Ratio of concentrations of a
compound in a mixture of two
immiscible phases at equili-
brium

(B) Ratio of concentrations of a
“compound in a mixture of two
miscible phases at equilibrium

(C) Ratio of concentrations of a
compound in a mixture of two
" immiscible phases which is not

at equilibrium

- (D) None ofthe above

The term that indicates fraction of a
dose of drug reaches to its size of
action : -

(A) Bicavaitability

(B) Bioequivalence
(C) Both ofthe above
{D) None ofthe above

What kind of substances can't

permeate membranes by passive

diffusion ?

(A) Lipid-soiuble

{B) None-ionized substances
(C) Hydrophobicsubstances
(D) Hydrophilic substances
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13.

14.

15.

16.

Which of these restriction enzymes
produce bluntends ?

(A) Sall

(8) EcoRV
(C) Xhoi
(D) Hindlt

An expression vector :
(A) Always contains an origin of
. replication
(B) Usually coniains a gene that
confers antibiotic resistance to
the bacterial host

(C} Always contains DNA
segments for the regulation of
mRNA production

(D) Allofthe above

How many different codons are
possible ?

(A) 3

8y 20

(C) &4

(D) Aninfinite number

Cleavage of DNA of EcoRl
endonuciease resuits in the
formation of ;

(A} Two 3-OH ends and one 5'-
phosphate ends

(B) One 3’-phosphate and one 5'-
phosphate end

(C) Two 3-phosphate ends and
 two 3-OH ends

(D) One 3-OH end and two 5'-
phosphate end

(Tum over)
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L)

18,

20.

in & fetus, where are lymohogyies

produced ?

(A Inthesplesn

(B} Inthe bone marrow

(G} Intheliver

) Inthehsart

Transmission of & gene from male
paren to fernale child to male grand
child is known as

A} Holandric inheritance

B;  Quantitative inheritance

) Criss-cross inheritance

() Maternal inheritance

S

e e

A micio array is an ordered array of
micorscopic eiements on a planer
substrate that allows the specific
binding of :

(A} Geneorgene products

8}  Whole genomea

{C) BEoth (A)and (B)

(D} Noneofthess

Production of {ransgenic animais
reguire transtfactions of ;

(A} Eggscrembryos

(B Siemcells

(C) Red biood cells

{8} Ali ofthese

A melecular techniques in which DNA
sequences between two
cligonucieotide primers can be
amplified is known as :

{A) Southem biotting
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23.

24.

(B} Northemn blotting

(C} Polymerase chain reaction
(D) DNAreplication

Which of the following enzyme is

used to covalently bond foreign DNA
o a vector plasmid ?

(A) DNApolymerase

{B) Restriction endonuclease

{C) DNAligase

(D) DNA helicase

Which of the following does not have

good activity against ansrobic

bacteria ?

(A) Metronidazoie

(B) Vancemycin

(C) Imipenem

(D Gen‘tamicin

Which of the following is true regar-

ding drug ciearance of the body 7

{A} Only refers to drug clearance by
the kidney

(B) Refers to volume of plasma
cleared of the drug

{C) Cannoct exceed femevular

filtration rate

{C} Is dependent on volume of

distribution

Contd.




25.

26.

27.

28.

20.

Which of the following is not true
regarding Adenosine 7

(A) lisanendogenous nucleoside
and is a metabolite of ATP

(B) Can cause severe bradycardia

(C) Ithas a haiflife of less than one
minutes e

(D) lthas halflife 1 hour

Cycleserine inhibits

(A) Alanine racemase .

(B} D-alanyl-D-alanine synthetase
(C) Amidase”

(D) Both (AYand (B)

More promising chemotherapeutic
agents for treating viral diseases is :
{A} Leukocytic Interferon

(B) - Fibroblast interferon -

(C) interferon

(D) Nystatin

Cross resistance of isoniazid is seen
with :

(A} Rifampicin

(B) Ethionamide

(C) Cycloserine

(D) Ethambuto!

Which are the fastgst écting schizon-
tocidal drug-among the following ?
(A) Mefloguine |

(B) Artemether

(C) Chlorcguine

(D) Proguanil
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30.

31.

33.

Jarish-Herxheimer reaction is seen
in Syphilis with

{A) Penicillins

{B) Tetracycline

(C) Co-trimoxazole

(D) Sulfonamide

Which are the bone marrow
depressive drugs in the treatment of
AIDS patients, EXCEPT ?

(A) Zaicitabine
(B) Dapsone

(C) Ganciclovi'f
(D} Cotrimoxazole

Ali the statement of the doxycyline is
true, EXCEPT :

(A) ltis bacteriostatic

(B) it is mainly excreted from the
feces

(C) Itis more active than tetracy-
cline against H. Pylosi

(D) itis used in Lynme’s disease

Who developed the concept of
specific toxicity ?

(A) Pasteur

(B Flemming

(C) Ehrlich

(D) Watson

Vancomycin inhibits peptidoglycan
synthesis by binding :

{A) Alanineracemase

(B) D-alanyl-D-alanine synthetase

(C) D-alanyl-D-alanine

(D) Amidase

{Turnover)




35.

38.

37.

38.

39.

The treatment of herps simplex viral
encephalitis should include :

(A) Zidevidine

(BY Acyclovir

(C) Didanosine

(D) Ritanavir

Which one of the following state-

ments regarding the standard devia-

ticnistrue ?

(A) Mean+/-one SDincludes 50%
of values

(B) Mean+/i-one SDincludes 66.7%
of values |

{(C) Mean+/~two SDs include 99%

(D) Mean+/-three SDs include
88.73%

Biotransformation of the drugs is to

- renderthem :

(A) Lessionized

(B} More pharmacologically active
(C) More lipid soluble

(D) Lesslipid soiuble

The drug of choiée for mushroom
poisoning is :

{A) Physostigmine

(B} Adrenaline

{C) Alropine

(D} <Carbachol

Barbiturates is metabolized by :

{A} Suipnate conjugation
(8) Oxidation; dealkyiation
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40.

41.

42.

43.

(6)

(C) Acetyiation
(D) Aliof the above

What does “affinity” mean ?

(A) Ameasure of how tightly adrug
binds to plasma proteins

(B} Ameasure of how tightly adrug
binds o & recepter

(C) Ameasure of inhibiting potency
of a drug :

(D) A measure of bioavailability of
adrug

Which of the following is a structural,
fibrous protein found in the dermis 7

(A) Melanin

(B) Heparin

(C) Coliegen
(D) - Lipocyte
Skeletal muscle relaxation and
paralysis can occur from interruption

of functions at several sites, nciuding

all of the foliowing EXCEPT ;-

(A) Nicotinic acethylcholine recep-
tors

(B) Muscarinic acethylcholine
receptors

(C) The motorend piate
(D) Contractile apparatus

The immunosiﬁppressivé agentis:

_(A) Corticosteroids
~{B) Cyclosporine

(C) Tacrolimus
(D) Al ofthe above

Contd.




45.

46.

47.

48.

Immunomodulating agents are the
following EXCEPT :

(A} Cytokines
{B) Levamosole
(C) BCG (Bacille Caimette-Guerin}

(D} Tacrolimus

All of these drugs are antiplatelet
agents EXCEPT :

(A) Aspirin

(8) Urokinase

(C) Ticlopidine

(D) Clopidogrei )

Which of the foliowing crosses the
blood-brain barrier ?

(A) GABA

(B) Propranolol

{C) Suxamethonium

(D} Edrophonium

Metabolites of diazepam, all
EXCEPT :

(A) Temazepam

(B} Oxazepam

(C) Desmethyldiazepam
(D) lLorazepam

Deferoxamine is a known chelator
which has selectively high affinity for :
{A) Lead

(B) Iron

(C) Mercury

(D}  Aluminium
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48.

50.

51.

52.

Which cone of the following drug is a
renin inhibitor ?

(A) Zankiren

{(B) Fencldopam

(C) Losartan

(D) Diazoxide

Holoenzyme is :

(A) Functionalunit
{B) Apoenzyme
(C} Coenzyme

(D) Allofthese

Conceptualization and development

of clinical research and development

plans (CRDPs} include foliowing

except :

(A) Preparing the clinical section of
IND/CTX submission

(B} Clinicai research and scientific
methodology

(C) Phaselic Phase IV studies
(D) Non-registration studies

All of the following are drugs of first
choice for treating cardiac
arrhythmias EXCEPT :

{A) Adenosine (Adenccard) for
terminating supraventricular
tachycardias

(B) Lidocaine (Xylocaine) for
terminating ventricular fibrilla-
tion

(C) Magnesium for terminating
torsades de pointes

(D) Flecainide (Tambocor) for
suppressing nonsustained
ventricular tachycardias

{Tum over)




53.

54.

55.

586.

Which one cf the foliowing drug is
associated with torsades de pointes ?
{A) Flecainide

(B) Sotaicl

(C) Lidocaine

(D) Verapamil

Mexiletine is an orally active
congener of which drug ?

(A) Flecainide
(B) Sotaiol

(C) Lidocaine
(D) Verapamil

All of the Toliowing statements
concerning the angiotensin
converting enzyme (ACE) inhibitors
are true EXCEPT :

(A) They actby inhibiting the abifity
of renin to converi angioten-
sinogen to angiotensin |

(B) Enalapril is a prodrug that is
converted to an active
metabolite

(C) They reduce secretion of
aldosterone

(D) They can produce hyperkale-

mia in combination with a
potassium-sparing diuretic

All of the foliowing statements
concerning clonidine (Catapres) are
true EXCEPT :

(A) [t acts by stimulating aipha-2
adrenergic receptors in
cardiovascular centers in the
CNS
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57.

58.

59.

{B) 1 lowers biocod pressure and
heartrate

{C) ltproduces a high incidence of
sedation

{D) It produces a high incidence of
orthostatic hypotension

Which one of the following drug is
available in a once-a-week dosage
form 7

(A) Labetaicl

(8) Clonidine

(C) Enalapril

(D) Nifedipine

All of the following statements regar-
ding prazosin are true EXCEPT :

(A) [t can cause a precipitous Tall
in bicod pressure

(B) It does not impair exercise
tolerance

(C) Itadverseiy affects serum lipid

leveis

(D) MKactsatvascular post-synaptic
alpha-1 adrenergic receptors

All of the fellowing statements

regarding beta-adrenergic anta-

gonists are true EXCEPT :

(A) Prepranclel can mask insulin-
induced hypoglycemia

(B) Nadolol has intrinsic sympatho-
mimetic activity

{C) Metoproici is preferrad over
propranciol in treating asthma-

- tics

(D) Labetolol has alpha-adrenergic

antagonist activity

Contd.



60.

81.

62.

63.

Which one of the following is a B cell
necplasm ?

(A)
®)
(©
(D)

None-Haodgkin's lymphoma
Acute lymphoblastic leukemia
Burkitt's lymphoma

Hodgkin's diseases

Which drug is a potassium channel
activator ?

(A} Zankiren

(B) Fenoldopam

(C) Losartan

(D} Diazoxide

Which drug has the dual activity in

Aizheimer and Parkinson’s disease
induced dementia except 7

(A)
{B)
(C)
(D)

Donepezil
Rivastigmine
Galantamine

Vinpocetine

Which drug have high bicavailabiiity ?

(A
(B)
()
(D)
Folibwing aniiepileptics increases the
growth hormone secretion except :

(A)
(B)
(©)
©)

Donepezil
Memantine
Galantamine
Artimisinin

Carbamazepine
Phencbarbital
Vaiproate

Locasamide

KR-12A/18

83.

6E.

67.

(9)

Following statement are true
regarding Alprazolam Except :

(A) Alprazolam, a triazolobenzo-
diazepine, has been marketed
asan énxio!ytic with additional
antidepressant preperties

Its analogue, adinazolam, also
has partial antidepressant
~activity |

it is also useful in panic
disorder, like other benzodi-
azepines, alprazolam is effec-
tive in acute and generalized
anxiety

High-ddse aiprazolam is useful
and weli tolerated'in the treat-
ment of anxiety associated with
schizec phrenia

(D)

The foilbwing anti-fubercular drug is
considered safest for during factation
Except:

GV
(8)
(C)
(3)

Isontazid
Rifampicin
Ethambutol
Pyrazinamide

Tighter !imit for permissible
difference in bicavailability may be
required for drugs that have following
Except:

(A)
(B)
(&)
(0)

A narrow therapeutic index

A serious dose refated toxicity
A steep dose/efiect curve
Alinear pharmacckinetic within
the therapeutic dose range

{ Tum over)




68.

69.

70.

71.

Which of the foilowing is not a second

messeanger ?

(A} NO

{B) Cyclic-ADP ribose
(C) Diaceyiglycerol

(D) Beia-catenin

Which of the following P blocker has
no additicnal o 1 receptor antagonis-

tic action ?

{A) Carvedilof
(B) Nebivoicl
{C) Labetalel
{D) Alenoict

Foliowing drugs has novel, dual

mode of action-enhancement of

sodium channel slow inactivation and

modulation of collapsing response

mediator protein 2{CRMP 2) :

(AY Locasamide

(B} Diacerein

{C} Pen‘to;barbitone

(D} Vinpccetine

Which of the following statement are

correct 7

{A) Lidocaine can induce seizures
by its metabolites

(B) Cocaine primarily used as
topical anaesthesia

KR - 12A/186

(10)

72.

73.

74.

(C) Bupivacaine induced cardiac
foxicity is difficuit to treat

(D) Ropivacaine has cardiotoxic

pctential

Which of the following regarding
fithium is correct except :

(A) Optimal concentrationis 0.2to
0.6 meqg/L

{B) Can cause Ebstein’s anomaly

in fetus
{C) Can cause neutrcpenia
(D) Lithium

seasonal variation

level can have

The most common side effect of

Zoledronic acid is :

(A) Flulike symptoms

(B) Viralinfection

(C) Renaldysfunction

(D} Hypocalcemia

Benefit of spontaneous adverse
reaction of pharmacovigilace :

(A) Early recrganization of actual
and potential problem

(B) Provide continuous monitoring

(C) Unable to compare all the
adverse effect of drug the

market

(DY Indentify predisposing factor

Contd.




75.

75.

77.

KR -

(®)

Infermation needed fo caiculate &
study’s sample size for cohort studies
are foliowing except ..

(A) Type 1 error considered
tolerable and whether it is one-
tailed or two-tailed ortype Heror
considered iclerable
Maximum relative risk to be

detected
(C) incidence ofthe disease inthe
unexposed control group
(D)

exposed study subjects

The Fixed Dose Combinations
(FDCs) are rational if it has following
except:

{A) Welldefined

(B) Welidocumented
{C) [f specific mechanism exisis to
justify the combination

If titration of doses for individual

drugs is_ not possibie

{3)

A 20-months old infant s brought to
the emergency rocm with fever,
vorniting, stupor and hyperpneaof 12
hours' duration. His leukocyte count
is 6,000/cu. mm. The chest
roentgenogram is clear. Urinalysis

Ratic of unexposed centrolsto

shows albuminuria, a positive test for .

reducing substance, and acetonuria.
Ferric chioride added to the boiled
acidified urine shows a persistent

12A/16

(11)

78.

79.

80.

(B)

purpie color. The most-likely
diagnosisis:

A)
B
(C)
(D)
The pharmacclogic effects of
morphine include all EXCEPT :

(A)
(B)
(©)
(D)
FALSE statement regarding
ketamine as an anesthetic:

Acute glomerulonephritis
Diabetic acidosis
Salicylate poisoning

Phenothiazine poisoning

Behavioral changes
Miosis

Respiratory depression
Diarrhea

(A) Contraindicated in a patient
with asthma because it may
cause bronchoconstriction

Recovery from anesthesia
associated with emergence
phenomenon of hallucinations
and vivid dreams

(C) Produces dissociative
anesthetic state, whereby
patient appears awake but is
UNCONSCIous

(D} Produces analgesia

The antithrombotic drug which inhibits
cyciooxygenase enzymesis :

(A)
(B)
(&)
D)

Predniscne
Dipyridamoie
Tranexamic acid

Aspirin

(Tum cver)




81.

82.

KR~

Phenytoin may have adverse effects
on the hematopoietic system. All of
the following have been reported
EXCEPT:

{~) Maérocytic anemia
(B} Foiic acid deficiency
(C} Lymphadendpathy |
(D) |
Visual disturbances (such as “haios”

on objects) are a side effect of which
of the foliowing anticonvuisants ?

(A} Trimethadione
{(B) Phenytoin

(& Phenacemide
(D) Phenobarbital

Leukemia

The liver function test most frequently
elevated in patients taking phenyioin
is:
(A) Gamma-g!utamyl transpepti-
dase (GGTP)
Serum glutamic oxaloacetic
fransaminase (SGOT} -
Serum glutamic pyruvic
~ fransaminase (SGPT)

(B}
()
)

Lactic acid deh_ydrogenase
{LDH) |

A new compound for screening was
found to cause tachycardia,
mydriasis, urinary retention and
cycloplegia. You would classify this
agentasa{an):

{A} Alphaagocnist

(B} Gangiionic blocker

12AM15

85.

£6.

87.

{12)

(C) Beta-1agonist
(D} Nicotinic agonist

information needed to calculate a

study’s sampie size for cohort studies

are following except

{A) Type | error considered
tolerable, and whether itis one-
tailed or two-tailed or type i
error considered tolerable

fMaximum relative risk {o be
detected

incidence of the disease in the
unexposed controf group

()
(C)

Ratic of unexposed controis tc
exposed study subjects

(D)

Foliowing drugs has novel, duat
mode of action-enhancement of
sodium channel siow inactivation and
modulaiion of collapsing response

- mediator protein 2 (CRMP-2) :

(A) Locasamide
(=)
{9
{D)
Following drug more seiectivity acton
PDE-E for example 700-fold more
potent for PDE-5 than for PDE-6 and
i4-fold more potent for PDE-5 than
for PDE11A1 (in skeietal muscle) :
(A Tadalefi '

(B} Alprostadil

{C) Vardenafii

(D) Sildenafil

Diacerein
Pentobarbitone
Phenobarbiione

Conid.



88.

89.

90.

81.

KR - 12A/16

Which one of the following drug can
have interaction if concomitantly
prescribed with
compound :

artimisinin

(A} Acetaminophen

(B} Phenytoin

{C) Carbamazepine

(D) Mefloquine

The most common side effect of
Zoledronicacid is :

(A) Flulike symptoms

(B} -Renal dysfunction

{C) Hypocalcemia

(DY  Atrial Fibriiation

Denosumab is used in the reatment
of: '

(A} Postmenopausal csteoporosis
(B} Osteocarthritis ‘

(C) Rheumatoid arthritis

{D) Ankylosing Spondylitis
Elderly patienis are vuinerable
groups and prone to toxicity induced

by drugs, which reasons are true,
EXCEPT :

{A) Decreased renal excretion
(8) Decreased hepatic metabolism

(C) Decreased vclume of

distribution
(D) increased receptor sensitivity to
targeted organ

- (13)

. 92

93.

94,

95.

Therapeutic index is an assessment
of

(A) . Potencyofadrug

(B} Margin of safety

(C) Onsetofaction

{03 Duration of action.

Apparent volume of distribution (Vd)
of a drug exceeds fotal body fluid
volume, ifadrugis:

{A) Siowly eliminated from the
body

(B) Poorly soluble i blood
(C) Segquestrated in body tissues

(L) Poorly bound to plasma protein

Urinary alkalinizing agents are
administered in case ¢f poisoning
duz to drugs which are :

(A} Strong bases

{B) Strong acids

(T Weakbases

(D) Weaik acids

All of the following factors tend to

increase the volume of distribution of
a drug, EXCEPT :

{A) Low ionization at physiological
pH value

(B} Highiipid solubiity

(C) Highplasma prdtein binding .

(D) High tissue binding

{ Tum over)




88,

I

88.

€9,

Seccndary messengeri.e. CAMP is
for ali, EXCERT ;

(&) TSH
8 LH

(C) F8H
(£ Insulin

Which drugs show zero order

kKinetics at its increased dose 7

(A) Digoxin and propranol

(B) Amijoride and probancid

{€) Lithium and theophyliine

(D) Phenytoin and proparansio!

Fastest acting recaptor / transduction

mechanisw is

(A) Adenynylcyciase-cAMP path-
way

(B) Intrinsic ioh channel operation

(C) Phospholipase C-1P, : DAG
pathway

(D} Nuclearrecepter

Which of the following drugs is

commoniy administered by intranasal
route 7

(&) Adrenaline
(8) Cranirelix
(€}  insuline

(D) Desmopressine

100. Which of the following drugs have

central aclivity, EXCEPT ?
(A) Propanoio!

KR ~12A/16

101.

102.

103.

(8) Frazosin

{C) Methyldopa

() Clonidine

All of the follewing are drugs of first

choice for treating cardiac
arrhythmias EXCEPT :

(A} Adenosine {Adenocard) for
terminating supraventricular
techycardias

(8) Lidocaine (Xylocaine) for
terminating ventricuiar fibrilla-
ticn

(G} Magnesium for terminating
torsades de pointes

(D) Fiecainide {Tambocor) for
sunpressing honsustained
ventricular tachycardias

This drug is associated with torsade
de pointes ;

{A) Flecainide

(B) Soclalol

(C) Lidocaine

(D) Verapamil

Mexiletine is an orally active
congenear of this drug :

(A} Flecainide

(B) Sotalol

(C) Lidocaine

(D) Verapamil

Contd.




104.

106.

KR —

All of the following statements

cencerning the angiotensin

converting enzyme (ACE) inhibitors

are true EXCEPT :

(A) They actby inhibiting the ability
of renin to convert angiotensi-
nogen o angiotensin |

Enailapril is a prodrug that is
converied to an active meta-
bolite

They reduce secretion of
aldosierone

They can produce hyperkaie-
mia in combination with a
potassium-sparing diuretic

(B)

(€

. All of the foliowing statements

conceming clonidine {Catapres) are
true EXCEPT ;

(A} 1t acts by stimulating alpha-2
adrenergic receptors in
cardiovascular ceniers in the

CNS

it lowers blood pressure and
heart rate

(8)
(C) MK produces a high incidence of
sedation

()

it produces a high incidenice of
orthostatic hypotension

Which one of the following drug is
available in a once-a-week dosage
form ?

{A) Labetalo!
(B} Clonidine
(C)
(D)

Enalepril
Mifedipine

12A/16

110,

(15)

107.

108.

109.

All of the following statements
regarding prazosin are true
EXCEPT :

(A) It can cause a precipitous fall
in blood pressure

it doas not impair exercise
tolerance

It adversely affects serum lipid
levels '

It acts at vascular post-synantic
aipha-1 adrenergic receptors

(B)
(C)

(D)

All of the following statements
regarding beta-adrenergic antago-
nists are trus EXCERPT .

(A) Prepranoiol can mask insulin-
induced hvpoglycemia
Nadolel has intrinsic sympathio-
mimetic activity

(3

(C) Metoprolol is preferred over

propranciol  in  treating
- asthmatics _

(D) Labetolo! has alpha-adrenergic
antagonist activity

Which one of the following drugis a

renin inhibitor 7

(A} Zankiren

{B) Fenoldcpam

(C) Losarian

(D) Diazoxide

Which one of the foliowing drug is &
potassium channe! activator ?

(A)  Zapkiren
(B)
(C}
(D}

Fenoldopam
Losartan
Diazoxide

{ Tum over)
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112.

113,

KR~

A 20-months old infant is broughtto
the emergency room with fever,
vomiting, stupor and hyperpnea of 12
hours duration. His leukocyte cournt
is 5,000/cu mm. The chest
reentgenogram is clear. Urinalysis
shows aibuminuria, a positive test for
reducing substance and acetonuria.
Ferric chloride added {o the boiled
acidified urine shows a persistent
purple color. The most likely
diagnosis is

(&)

®)
(©
(O}

Acute glomerulonephritis
Diabetic acidosis

Salicyiate poisoning
Phenothiazine poisoning
Many stimuii may cause vomiting.

The chemoreceptor trigger zone of
the central nervous systemis :

(A} Located in the cerebrai cortex

(8) Stimulated 'in aill forms of
vorniting

(C) Stimulated by momphine and its |
congeners

D) Allofthe above

The pharmacoliogic effects of
morphine inciude all EXCEPT :

(A)
{B)
(C)
D)

Behavioral changes
Miosis
Respiratory depression

Diarrhea

12A/16
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114.

115.

118.

117.

FALSE statement regarding
ketamine as an anesthetic :

(A) Confraindicated in a patient
with asthma because it may
cause bronchoconstriction

(B) Recovery from anesthesia

asscciated with emergence

nhenomenon of haliucinations

and vivid dreams

Prcduces dissociative
anesthetic state, whereby
patient appears awake but is
unconscious

(D) Produces analgesia

(C)

The antithrombotic drug which inhibits
cyclooxygenase enzymes is .

(A} Prednisone

(B} Dipyridamole

(C} Tranexamic acid

(D) Aspirine

Phenyfoin may have adverse effects
on the hematopoietic system. All of
the following have been reported
EXCEPT :

(A) Macrecytic anemia

(B) Folic acid deficiency

(C) iLymphadenopathy

{(B) Leukemia

Visuzal disturbances {such as “haics”

on ijects) are a side effect of which
of the following anticonvuisants 7

A)
(8)
(&)
(D)

Trimethadione
Phenytoin

FPhenacemide
Phenobarbital

Contd.



118. The liver function test most frequently

118.

120.

121.

KR -

elevated in patients taking phenytoin

IS : ‘

{A) Gamma-glutamy transpepti-
dase (GGTP)

(8) Serum glutamic oﬁaioacetic
transaminase (SGOT)

(C) Serum giutamic pyruvic transa-

minase (SGPT)
(D} Lactic acid dehydrogenase

(LDH;
A new compound for screening was
found to cause tachycardia,
mydriasis, urinary retention and
cycioplegia. You would classify this
agentasaf(an):
(A) Alphaagonist
{B) Ganglionic blocker
(C) Beta-1agonist
(D) Nicotinic agonist
Gastrointestinal hormones which are
responsible for greater insuiin activity
after an oral glucose ioad than an
intravenous glucose load include :
A GIP '
(B) Gastrin
(C; Pa‘ncreozymin-choEecystokinin
(D) Alioftheabove
Which is the safeguard of human
subject/volunteers protection during
a ciinical tnal, except :
(A}  Monitoring of adverse drug

. reaction

124/16 3 (17)

122.

123.

124,

125.

(B) Informed consent form
(C) Interim anaiysis |

(D) Per protocol analysis

Which is not amoeng the ethical pringi-
ples of Belmont Report (197¢) ?

{A) Respectforpersons

(B) Beneficence

(C) Protection of subject

(D) Justice

external DSMBs, generaily not
needed for, EXCEPT:

(A) Early phase trials

(B} Short term trials for treatments
to relieve common symptoms

(C) Post-marketing surveillance

(D) Single arm study

Which is not true regarding the Kaipan-

Meier (KM) suivival analysis 7

(A) Can add stratification factors

(B} No sensible interpretation for
competing risks

(C) Oneway to estimate survival

(D) Can evaluate covariztes like
Cox Model

What is not a function of Ethics
Commitiees 7.

(A) Protection.

(B) Advice.

(C) Education

(D) None ofthe above

(Tumover)




126. informed consenirefersto:

127.

ot
o

(A) Principle of autonomy

(B) Voluntary but uninformed
decision-making

{C) A voluntary decision 10
narticipate in research, by a
competent individual who has
received and understocd the

necessary information :
Permission to participate in

)

research

All of the foillowing must be
determined prior to initiating a
climical trial EXCEPT :
(A) The number of patients needed
%o evaiuate protocol sample
size
The study design,' i.e. rando-
mized or s;ihg!e—érm}:ria!
The degree to which the tria!
outcomes are met

&

(D) The eligibiiity criteria

. The following must be done prior to

the first patient being entered on a
clinical trial EXCEPT :

(A} Approval by an Institutional
Review Board (IRB)

Awriten consent

(B3
(C) Pharmacy process to obtain
 drugsupplies

{D} Dataanalysis

KR~ 12A/18
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128.

Which of the foliowing is a required
eiemeni of an informed consent ?

~(Ay Clearly defined potential

130.

131.

toxicities
(B) Astatementthat participation is

required after consent is

signed

(C) Guarantes of clinical improve-
rent

(3)] Gﬁérantee of health care atno
cost for the disease under
study

For what purpose does the IRB

review the informed consent ?
(&)
(8)
()

Protect the Institution
Protect the Subject

Provide the Institution with
informaticn about proposed
research triais

{D} Protectthe Sponsor

What is the definition of an Adverse

Event?

(A) Anysign or symptom during the
course of 2 clinical trial

(B} Anyeventwhich the Pldecides

to report during the course of a

clinicat triai

(C) Administration of the wrong

dose of study agent

L)

Patient participating in a
ciinical tial withdraw from study

Gontd.



132. Which one of the following

133.

134

KR~

(A)

characterizes phase | drug testing ?

[t may involve patients with
different kinds of cancer

(B) Hkislimited to patients who have
highiy effective treatment
aiternatives

(C) it uses a single dose level to
ascertain response rates

(O}

It always invoives completely
predictable toxicities

Human mosteasily tolerate a lack of
which of the following nutrients ?

(A Protein
(8)
{C) Carbohydrate
(D} Lipid

iodine

What is a sampling distribution ?
(A) It describes all the non-
sampling errors that occur
when sampling from a
population

(B) They provide a major
simpiification on the route to

statistical inference -
lt describes how randomization

is used to guarantee unbiased
estimates

(©)

it summarize all sources of
variability not expiained by a
least-squares regression
model '

©)

12A/16

(19)

135. Which of the foliowing is an

136.

advantages of a case-controi study
design over a cohort study design ?
(A) A cohort study design is more
efficient for investigating rare

outcomes

it is not subject tc recall bias

(8)
(C) Exposures can be assessed
prespectively in a cohort study
design

Possibility of confounding is
eliminated in 2 cohort study

design

(D) -

Which one cf the following statement
about randomized confrolled trials of
screening is TRUE ?

(A} Ascertainment bias in
determining the cause of death
does not affect the estimation

of the screening effect

Lack of compliance in the
screened group resuits in an
overestimation of the
screening effect

(B)

(C) Lack of compliance in the
contro! group results in an
overestimation of the

screening effect

The major purpose cf
randomization is to minimize
the differences between
subjects in the screened group
and those in the control group

(3)

(Tum over)




137. Ameta-analysis refers to, except:
{A} Methods focused on contras-
ting and combining results from
different studies
(B) in the hope of identifying
patterns among siudy results
{C) Sources of disagreement
- among those results

{D) Comparison cof open and
randomized trial

138. Randomization refers to ali, except :
{A) Generating a random
permutstion of a sequence
(8 Non-pmbabiiitysampiing
(C) Aliocating experimental units
via random assignment to a
treatment

(D} Selecting arandom sample of
a popuiation

132. Microdosing refersto:

(A) To predict pharmacodynamic
cftestdrug

(B} Aim to reduce the resources
spent on non-viable drugs and
the amont of testing done on
animais |

(C) Referto precise dispensing ‘of‘

small amounts of a drug
substance

(D) Referto microdispensing

140. What is not refered to quasi-
experiment ?

(&) Is an empirical stugdy used to

KR —-12A/16

(20)

(B)

©)

(D)

estimate the causal impact of
an intervention on its target
population
Quasi-experimental research
designs  share many
similarities with {he traditional
experimental design or
randomized controlied frial

The element of random
assignment to treatment or
control

May not be possible to¢
convincingly demonstrate a
causal link between the
ireatment condition and
observed outcomes

141. Elderly patients are vulnerable
groups and prone fo toxicity induced
by drugs. Whicn reasons are true,

EXCEPT:

(A) Decreased renal excretion

(B) Decreased hepatic
metabolism

(C) Decreased volume of
distnibution

(D} Increased receptor sensitivity to

targeted organ

142. Therapeutic index is an assessment

" of:
A
(B)
(C}
(D)

Potency of a2 drug
Margin of safety
Onset of action

Duration of action

Contd.




143. Apparent volume of distribution (Vd)
of a drug exceeds tuta! body fluid
i volume, ifadrugis:

. (A) Slowly eliminated from the
body

{B) Poorly soluble in blood
(C} Sequestrated in body tissues
(D) Poorly bound to plasma protein

144. Urinary alkaiinizing agents are
administered in case of poisoning
due to drugs which are :

(A) Strong bases

(B) Strongacids
(C) ..Weak bases
(D}, Weak acids

. 145. All of the following factors tend to
; increase the volume of distributicn of
adrug, EXCEPT :

(A) Low icnization at physiological
pH value
(B) High lipid solubility
(C) High plasma protein binding
(D) Hightissue binding
146. Secondary messengeri.e. ;cAMP is
for ali, EXCEPT :
(A) TSH
By LH
(C) FSH
(D) Insulin

147. Which drugs show zerc order
Kinetics at increased dose ?

(A) Digoxin and proprano!
(B) Amiloride and probencid

KR - 12A/16 (21)

148.

148.

15G.

151.

(C) Lithium and theophyliine
(D} Phenytoin and propranclol

Fastest acting receptor/ transduction
mechanismis :

(A) Adenynyl cyclase-cAMP
pathway

(B) Intrinsicion channel operation

(C) Phospholipase C-P, : DAG
pathway

(D) Nuclear receptor

Which of the following drugs is
commoniy administered by intranasal
route ?

(A) Adrenaline

(B) Granireiix

(C) Insulin

(D) Desmopressine

Which of the following drugs have
centrai activity, EXCEPT ?

(A) Propanolol

(8) Prazosin

(C) Methyldopa

(D) Clonidine

Regarding adverse reaction, ail are
correct, except :

(A) Methysergide-Retroperitoneal

fibrosis

(B) Saraslasin-AT2 receptor
antagonist

(C) Ethambutol-Retrecbulbar neurit-
is

(D) Rifampincin-Oprtic neuritis

(Tum over)




152.

153.

154.

155.

156.

KR -

in hyperthyrcidism lugol's iodine acls

mainly by blocking the :

(A) Uptake of iodine by the gland
siep-5

(B) Oxidaticn oficdine inons step-2

(C) Release of thyroid hormone
from the gland step-5

(D) Cocupling of iodotyrosyi
residues step-2

Which of the fellowing is given fc a

patient suffering with glaucoma,

oedema and epilepsyis 7

{A} Acetazolamide

(B) Carbamazepine

{C) Thiazide

(D) Phenobarbitcne

Loading dose dependson :
(A) Clearance

(B) Halflife

(C) Rate of administration
(D) Voiume of distribution

Ali are pharmacogenetic conditions,

excepi:

(A} Malignant hyperpyfexia

(B) Coumarininsensitivity

{C} Adenocsine deaminase defi-
ciency

{B) GEPD deficiency

Which of the foliowing can be given

with dose adjustment ?

(A) Levecdopa +metoclopramide
(B) Gentamicin+ Furosemide .
(C) Ferrous sulphiate + Tetracycline
(D)} Clonidine + chiompromazine

12A/16

157.

Drug which cause fetal renal anoma-
lies ?

(A) Enalapril

(B) Furosemide

(C) Amiodipine

(D} Phenytoin

158. True statement regarding first order

kinetics is ;

(A) A constant proportion of
plasma concentration

(B} independent of piasma
concentration

(C) Halfiife increases with dose

(D) Clearance decreases with
dose

159. Which of the following is not a dose

160.

161.

related reaction ?

(A} Myocardial imitation of qunidine
(B) Hypoglycemia of tolbutamide
(C) Digitalis induced arrthythmia
{B) Drug fever of suipha

Most commonly postural hypetension
is seen with :

{A) Nifedipine

(B} Atenoldt

{C) Prazosin

(D) ACE inhibitor

Beta-biocker with intrinsic sympatho-
mimetic properties are :

(A) Propranolof
(B) Practolol

{(C) Oxprenoioi

(D) . Esmolol

Contd.




162.

163.

164.

165.

166.

167.

KR -

Which NSAIDs shouid not be used
with methotrexate ?

(A) Diclofenac
(B} Aspirin

(€
(D)

interdose interval depends upon :

Paracetamol

Indomethacine

(A) Binding tc plasma protein

(B) Elimination halflife

(C) Absorpticn halif life

(D) Volume of distribution
Envthromycin is the drug of choice for
all except:

(A) Pneumocystitis carinii

(B) Whooping cough

(€)
(D)

Which is the profease inhibitor ?

Chlamydia trachomatis
(A} and (C) both

(A) Nivirapine
(B) Nelfinavir
(©)
(D)
Which hypertensive is contrain-
dicated in pregnancy ?

(%) Beta
(B) ACE inhibitor
(C)
(D)

Bisphosphonates are not used in:

Abacavir

Efavirenz

Beta-blocker

Alpha and beta blocker
Methyldepa

(A) Hypercalcemia
(B} Osteoporosis

12A/186

168.

168.

170.

171.

172.

(C) Cancer
(D) Vitamin D intoxication

Therapeutic level of phenytoinis
(A)
)
(C)
(D)

Short haif life of thiopentone is due
to:

A)
(B)
©)
©

The primary mechanism of action of
flucride on topicai application is ©

A)

0.9 ug/mi

10-29 pg/mi
20-28 pg/mi
30-38 ug/mi

Rapid redistribution
Rapid excretion
Rapid metabolism
All of the above

Conversion of hydroxyapatite to
fluoroapatite by repiacing the
OHions

[nhibition of plaque bacteria
From a reservoir in saliva
Improvement in tooth morpho-

logy

(B)
€
(0)

Drugs causing Addison’s disease is :
(A) Ketoconazole

(B) Aminoglycosides

(C} Cyciosporine

(D) Glucocortocoids

Alpha 2 agonist can be used in all of
the following except :

(A} Hypertension

(B) Giaucoma

(C)

(2)

Opiate withdrawsa!
Stroke

{Tum over)




173.

174.

175.

176.

177.

178.

KR—-

Which of the following is not given in
a patient with pheochromocytoma ?
(A} Atenoloi

(B) Prazosin

(C) Metyrosine

(D} Nitroprusside

ThromboxaneA, synthase inhibition
isby:

(A) Aspirin

(B) Dazoxiben

{C) Prednisclone

(D} Naproxen

Local anesthetic act by inhibiting :
(A)  Influxof K™

(B8) EffluxofK*

(C) Influxof Na+

(D) EfiluxofNa"

Patient with hypotension and cardiac
disease best anti-depresent is :

(A) Venlafexine

(8) Mirtazapine

(C) Duloxetine

(D) Cifaloprax

Heroin differs frcm morphine in all

respects except :

{A} Causes more euphoria

{B) More constipation

(C) Slowly metaboclished to
moiphine

(D) (A)and (B)both

All are the essential R’s of ethics of
animal use except :

{A) Repilacement

12A/16
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179.

180.

181.

182.

(B) Realiccation
(C) Refinement
(D) Rehabilitation

The physiolcgical salt sciution (PSS)
used for the bicassay of guinea pig
ileumis:

(A) Ringer’s solution
(B) Tyroid solution
{C) Mocdified ringer’s solution

(D) Kreb's soiution

Most potent cardiac stimulant is :
(A) Adrenaline

(B) Propranolol

(C) Dobutamine

(D) Salbutamol

Regarding Zolpidem which of the

foliowing is nottrue ?

(A) Act on benzodiazepine

~ receptortype 1 -

(B) Duration of actioﬁ is less than
diazepam

(C) Goodmusclerelaxant

(D) Has sedative and hyhnotic
effect

Prolonged allopurinol therapy in a
patient with gout is not indicated for :

(A) Acute gouty arthritis

(B) Tophi

(C) Urate nephrdpathy

(D) Evidence of bone/joint damage

Contd.




183.

184.

185.

186.

Which one of the following drug is not
usefulfor MRSA?

(A} Cefaclor

(B Cotrimoxazole

(C) Ciprofioxacin

(D) Vancomycin

The most effective drug against M.
leprae is ;

(A) Dapsone

(B) Clofazimine

{C) Rifampicin

(D} Ethionamide

Drug used to prevent renal toxicity in
case of alcoholic hepatitis is :

{A) Silymarin

(B) S adenosy! methionine
(C) Thalidemide
(D) Pentoxyphyline

Which one of the following statements
regarding clinical therapeutic index
is true ?

(A) Drugs require to produce side
effect compared to the
concentration require to
produce therapeutic effect

(B} Drugs require to produce toxic
effect compared to the
concentration reguire to
produce therapeutic effect

KR - 12A/16
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187.

188.

189.

190.

(C) 'Drugs require to produce lethal
effect compared to the
concentration require to
produce therapeutic effect

(D) Drugs require to produce lethal
effect compared o the
concentration require to
produce side effect

The function 'of nitrate are all, except :

(A) Decrease total peripheral
resistance

(BY Acton both preload and after-
ioad

{C) Increase coronary bicod flow

(D) Usefulin angina

Rutinisa/an:

(A) Antipiatelet
{B) Antifibrinolytic
(C) Anticoagulant
{D} Hemgstatic
The foilowing drugs helping in
induction of ovulation are alil except :
(A) Tamoxifen

(B} Gonadotropines

(C} Clomiphene

(DY Progesterone

Tianeptine is

(A) SHT antagonist

{B) Noradrenaiine uptake inhibitor
(C} 5HT reuptake enhéncer

(D) Dopamine antagonist

{ Turn over)




doses are used 7

as seen in the elderly, would prolong
(Ay 11100 - 1/10 NED

(B) /100 - 17100 NED arug haii-life, plasma protein
o binding, and volume of distri-
{C} 1/2-~1NED o

UBon.

{0y 1101 NED
' (A} increase;Increase

182. Drugs are active in their form
and inactive in their forem. (E) Decrease; Decrease
(%) Polar; Non-polar (C) Increase ; Decrease
{8) Non-polar; Polar (D) Decrease;ncrease
(C} Water-soluble; Lipid-solubie 186. Generic drug to be bioequivalant to
(L) Neutral; Neutral an inncvator drug as per FDA, it
183. What is the correct order of bond must be measured in of
strength, from strongest to weakest ? subjects to fall within of the
{A} Covalent> lonic > Hydrogen > mean of the test population
van der Waals ' bioavailability.
() lonic> Covaient > Hydrogen > (A) 955
van der Waals
(C) Covalent> Hydrogen > lonic> ® 5 95
van der Waais (C} 80;20
{0} van der Waals > Mydrogen > (Y 26,80

Covalent > lonic ' . .
197. The FDA bioequivaience rule, “how

Py
(ol
£

*. Which of the foliowing is the much variation couid a generic drug

equiiibrium dissociation constant, . .
- potentially have from an innovator

where the concentration of free drug

is at half-maximal binding ? and still be considered equivalent”?
at half- _

(&) EC50 w 80%
©) Emax . B) 60%
(C) Kd . (C) 40%
{D} Bmax (D} 20%
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198.

198.

KR -

‘Why is vitamin B6 usually prescribed

with isoniazid (INH) ?
it acts as a cpfactor for INH

[t prevents some adverse
effects of INH therapy

Like INH, it ﬁas tuberculosic
aclivity

it prevents metabolism of INH

(D}

Which of the following receptor
subtypes relaxes smooth muscle and
causes liver glycogenolysis and
giuconeogenesis ?

(A) o1 (Cg/Gi/Go)

200.

(B) 2 (GiGo)
(C} B1{(Gs)
D) B2(Cs).

Nicotinic N2 receptors are the

subtype and nicotinic N1

receptors are the
A
(B)
(C)
6)

subtypre.

Sympathetic ; Parasympathetic
Neuronal ; Muscular '
Muscular ; Neuronal

Noda! ; Neuronali

12A/16
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